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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7
were ey ot Sl Tes fra
(@) Who is considered as the father of
Physiocracy?

I 2APRAM g T o1y 91 2 2

(b) Who was the exponent of ‘scientific
socialism’?
‘TS e ARG (I e 2

(c) In France, Mercantilism was known
as (Fill in the blank)
TS mﬂ%ﬁw _ ICed S GO

(1N o1% "B‘T Z41)

(d) Mention the two factors that determine
Ricardian concept of exchangeable
value.

ﬁWﬁﬁm{mﬁmqw@TWW
Tee 91 |
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(2) | (3)

(e) “Malthus is basically known for his two 3. Answer any three of the following
contributions.” What are they? questions : 5x3=15
‘YRR dqEe:  (9¢9 Bl AR A oo 2R R (e foRbR Teg for
e 17 el & /52 ; (a) Examine the causes of downfall of

() Who is referred to as the last classical Mercantilism.
economist? SSRRM o FROPTHR AR 1 |
T Sy <RI HAefRm et (v =7 2 (b) “Supply creates its own demand.”

(g9 Who said, “Rent is a differential surplus”? Explain the statement.

@ RE, AT (R 9@ ARG
W”?

2. Answer the following questions in brief : 2x4=8
To PCIR B Bed ol

(@)

(b)

(c)

@)
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Explain the physiocratic concept of
‘net product’.

APROAMT 7 BRAT’ IFEICHT JIT FT |

Mention Adam Smith’s four Cannon'’s of
Taxation.

S 2 99 5101 NS Seaw 41 |

State Malthusian theory of gluts.
TR SR OGO I 1 |

“J. S. Mill introduced a three-fold
classification of commodities and
thereby extended the theory of value.”
Mention these three iypes of
commodities.

“@. @b, e (0¢7 ey PR G
CITR RTR F21 T IRz 1 AR 24eR-
20l & 2

( Continued )
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e e wifEe e e 177 e rem
90

(c) Show the distinction between
physiocratic ‘natural order’ and Adam
Smith’s ‘naturalism’.
W@M ‘rpfes ¥R WIF SmN - R
“orfeam’S WES 1 ALFPRR (& |

(d) Mention the three factors responsible
for the crisis in a capitalistic economy.

i wefRfes xoa fofoT Tt Searw w1 |
(e) Explain Ricardian theory of rent.

RPICER A1 OGeo! I 3[4 |
Answer any three of the following
questions : 10x3=30
oo 2 R Gt ol Te forer

(@) What is Mercantilism? Name any
two mercantilist writers. Mention the
factors responsible for the growth of

Mercantilism. 2+2+6=10
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B

SRR 527 R @ g sk o<
IR 1T 1 iR S FrepTR Sea 4 |

(b) Examine the relevance of Marxian
Economics in the wunderdeveloped

countries.
TS (rre WS wHifer emRiEwe
<41 |

(c) Critically examine Malthusian theory of
Population.
TN SR SGCH! TR eS0T
<41

(d) Examine the Adam Smith’s views on
economic development.
wftfoT Tmee eqe umy fug g
[T <P

(e) What is Tableau economique  of
Quesnay? Explain the physiocratic
views on ‘taxation’ and ‘“rade’. 4+(3+3)=10
(P Tableau economique Jfica &
LE? T 9 QS Ao epfeamivTeer
Y{BSH! SICeToal 41 |

() Explain briefly the main contribution of
David Ricardo. Is it correct to call him a
pessimist?

cofor ReICCR 91 wmmeemz w4
ReIce Sraenst 31 @RI wmE 2
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